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Algebra 2 2nd Semester Review 2

Multiple Choice

Class:

Date:

Identify the choice that best completes the statement or answers the question.

Solve the equation by graphing. If exact roots cannot be found, state the consecutive integers between which

the roots are located.
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The solution set is {1, 4}.
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The solution set is {—4 0}. The solution set is {2, 4}.

Write a quadratic equation with the given roots. Write the e

and c are integers. x=-5 x=2
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b. x*+7x+10=0 e d./ x> +3x
5 Y Ebk 2 10
A( 4, _Z and 8
/a.)ax® —27x—40=0 c. x*-27
b, 4x* +27x+40=0 d. x*-27
5 \
x:-% X=§ (4x+5
w;w P [ & 8
L ) L{ )/ Z’
Uy = -9 Y - =9 ¢
b 15 L
N % +8 =0

quation in the form ax® +bx +c = 0, where a, b,

+10=0
-10=0

x —40 =0
x +40 =0

) (x~§)=°

‘—3?,)‘54-5?‘”["'{0 ==

el 27x-H0= O




Name:
Solve the equation by factoring.
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Find the exact solution of the following quadratic equation
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Find the value of the discriminant. Then describe the number and type of roots for the equation.

2
2 btae (~)Pu(-) (1) [2btg =204 o wtd perwetsa.
{ »13. x"—14x+2=0 LY waé“;“'
a. The discriminant is 196. Because the discriminant is greater than 0 and is a perfect
square, the two roots are real and rational.
b. The discriminant is —204. Because the discriminant is less than 0, the two roots are
, complex.
The discriminant is 204. Because the discriminant is greater than 0 and is not a perfect
square, the two roots are real and irrational.
d. The discriminant is —188. Because the discriminant is less than 0, the two roots are
2 complex. e ‘ .
(o 14 +x+7=0 () -1 Gy () |-28 =-23% 40 7 oomyllen-
a. The discriminant is —29. e 84,
Because the discriminant is less than 0, the two roots are complex. :
b. The discriminant is 1.
Because the discriminant is greater than 0 and is a perfect square, the two roots are real
and rational.
/<. ) The discriminant is —27.
Because the discriminant is less than 0, the two roots are complex.
d. The discriminant is 27.
Because the discriminant is greater than 0 and is a perfect square, the two roots are real
and rational.

Write the following quadratic function in vertex form. Then, identify the axis of symmetry.

A. I8, p=x"+4x-6 Wb = ‘){‘g.iif‘{'!*’:i'”
a,/ The vertex form of the function is y = (x +2) — 10. R , 5
The equation of the axis of symmetry is x = —2. wWHO = {9 +2) ‘
b. The vertex form of the function is y = (x =2)° =10, < fo s 3? -
The equation of the axis of symmetry is x = —2. =Lex2y =ik
c. The vertex form of the function is y = (x +2) =1 r=-T
The equation of the axis of symmetry is x = —10.
d. The vertex form of the function is y = (x +2)> + 10.
The equation of the axis of symmetry is x = —10.
Solve the inequality algebraically.
C 16 2 +14x<-12
a {x|-1<x—6)} &) (xl-6xx<-1}
b. {x|-12<x<-2} d {x|2gx<-12}
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Simplify the given expression. Assume that no variable equals 0.
14x(4xy14) [—4x'1°y7) = S @‘1425\“ ( -4 X B ugﬂr
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a. —224x7'y10 c. xJ;
—224y*!
B d. -4
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x52 x13
a. c.
2y16 1 6y4
52_-16 52
b. Xy x
16 16p'°
Zx ~!
Simplify the expression using long division. =
w-lb | 2x7-33y 1k
(%% —33x +16) + (x — 16) O Z2xF272x
a. quotient 2x — 33 and remainder 16 c. quotient 2x — 1 and remainder —32 ' _’r" &
quotient 2x — 1 and remainder 0 d. quotient 2x + 1 and remainder 32 -X
Simplify the expression using synthetic division. -—-—-————'C")’
(6x° — 48x* + 120x — 96) = (x —4) U] b ~u¥ tiz -z!g
> d =3 [
a. quotient (24x2 +48x + 312) and remainder 1,152 RS- S -
- 24 2410

el

{b. quotient (6x2 —24x + 24) and remainder 0
c. quotient (S'Ox2 +72x — 408) and remainder 1,536
d. quotient (6x2 —T2x— 168) and remainder 576

% .
Lxl-2qx+eY
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Find p(-3) and p(5) for the function p(x) =4x* + 8’ ~2¢> + 13x+10. pL-3)= Gl
a. 51;3,515 c. —371;1,525 Q@ 3_ 5 (s)? pia(s)4toz
61;3,525 d 113;3473 p(8)zU(s) +¥( o) - 3550
5 22. Use synthetic substitution to find g(2) and g (~7) for the function g(x) = 5x* — 3x” + 6x — 4. —
a. 100,2216 c. 84,11,896
@ 76, 11,812 d. 36,-536
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Given a polynomial and one of its factors, find the remaining factors of the polynomial. Some of the factors
may not be binomials.

g q Q| le -ty -51 729
23. 16x° — 144x”> — 81x + 729;x - 9 Ly ’lzq
(4x —9)(4x +9) c. (4x-9 S s SIS Mt 123 S
" (16x — 81) d. (4x —9)(4x —9) Wb o -t O
(0 24, 36x° +60x* — 143 — 242, x 2 gt guzo Dilfe-TbSa
a. (6x—11) (S (6 +1D)(6x +11) .
b. 2(6x+11) A (6x+11)(6x —11) (4 +4) (vx -4) =0
Q 25. Find all of the zeros of the functlonf(x) x> —15x> +73x 1 111. 9 2, o -14% 242
€36 i,6+1i /}gérf"}s«'\/f)\e c. 36—1. . 12 264 247
l 6+l 119.,;)-{,. o)"%,a,.{}_\( %{‘ d. _3,6*l,6+l gb [3L (Z( ¥ o
26. Fmd g h](x) and [Aog](x). Dt iwead ,
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h(x) =—6x—5 o R SE) =-\#e-5 (6% +19) (byerit)=?
a. [goh](x)=—18x>—15x c. [goh]lx)=-18x+15
[hog](x) =—18x* — 5x [hogllx) =-18x+5
b.) [geohl(x)=—-18x—15 d. [geoh](x)=—-18x—15
[hegl(x)=—18x-5 [Aeog]lx)=—18x—15

Find the inverse of the given relation.

Cs 22 {(1-5).012-7).(5-9).(16-13)}  Twlevthange X ot

a {(=5.1).(7.-12).(9.9).(-15,16)} &7
b, {(-5.1).(-7.12),(-9,-9),(-13,16)}

(e {(51).(7.12).(-9.9).(-13.16)}
a. {(=5.1).(-7.12),(-9.9).(-13,- 16)}

Find the inverse of the given function.
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_? 29. Determine whether each pair of functions are inverse functi
1) f(x) = ”“4 N fixy=x-8 O C(SM)
gx)=x+8

9% -6
g (x ) - 1 1
a. Only 1 is an inverse function.
b. Neither 1 nor 2 is an inverse function. -f’f‘
¢.  Both 1 and 2 are inverse functions.
d./Only 2 is an inverse function.
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Solve the given equation.
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7

Evaluate the logarithmic expression.

log, 2768 (ale > 1o (3276%) /o9y (5)

a 58 832,768
b. 32,768 Y () s
2%) [\oa(a)
Sz 1 \e> \o (\ 0 [
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D

Solve log,x = 6. L
a. 18 % =¥ c. 6
b. 216 D 729

Solve the given equation. If necessary, round to four decimal places.

9 b »
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37. log, 9+log, a=log, 13
a. 26

(b) 1.4444

38. log,(x+2)—log,11 =log121

.9
@ 1,329

P

39. 13’ =21 [ =2

a. 18.8519 lut? “lu?l

b. 0.2083 U:} ' - (WA
40. Evaluate the expression Ine”. i3

a. e vabr i

b. 2° 7€ ezt 2.1
41. Evaluate the expression e™'*.

a. In14°

Simplify the given expression.
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5(a’ +5a+6) 4l(a+3)

{a-lr‘?) . -
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Suppose y varie JO@S x and z. Find y whenx=2 and z

3a’-36)  6a+6) ‘?’(‘aﬂ‘/\ (a~to)
10(a +3)(a—-2) 10(a+D)
H1(a—-6) “ A(a+6)
@ 10(a +2) o J@+Ba+2)
s/ 4l(a—-6) © 4l(a+b)a—6)
Simplify the given expression.
7 ('2\[“53 54%?‘4”50
. 2 —-—3—-———5‘ v : S T 8\ (2 5
47 -25 45 (us)(2x~5 2x+-9 (2x-2) (2 x4+8\ (2x>
a 4x +7 @ 4x|—7 43( ?’
T (x+5)(2x-5 L/ (2x+5)(2x - S
(2x +5)( ) (2x+5)(2x - 5) (rer Sy (2% - 5)
R 5
(2x=5)(2x+5) (4x2 +2x—20)
19 B engyt gy 1A 1j_ 1S2% = Ty'
2 g2 -— A g ————
19-7y 152% —|7y
fls 8x2y2 C. 8x2y2—
152x — Txy” 152x —(7xy*
8x2y2 gst 2
If y varies as x and y = 30 when x =—10, find y when x = 56. - \i')_!- 3,.__..0 - i
a. 168 -168 X, %, =10 46 _wq}
b. 16,800 d -16,800 -0y = |b%0 AL‘/ ’

=11, if y= 160 when x =3 and z = 8. Round

your answer to t arest hundredth, if necessary. b & kxe -0 - %P (o %j
a. 1,173.33 . 1333 | ( o= i) g T YW ()¢
b. 14667 174.55) '\ lensyy we= 74,85
If y varies in /vgggbas x and y = 194 when x = —13, find y when x = 50. Round your answer to the nearest
hundredth, if necessary. ot W
a. —746.15 s044 | L=z A4 3
b. 746.15 @ -50.44 Xz x S50 13
Soy =28z
Find the midpoint of the line segment with endpoints at the given coordinates. \3 = -5 4Y
X1 Y\ £z Ve X+ W 4, z.{(-z{) 2;-Hm‘?))
- % t > o e
(-2, 8) and (4, —9) M.2. = ( - T = ( il R~
1 A,
ta'>(*3=’2) c. (=6,-1) s - : ,_\‘) -~ (,gf g?)
17 11 ¢ ‘
b. (1, ‘2_) d. (_77 __2)
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Find the distance between the pair of points with the given ¢
Yy 9. ¥z Y
(~11, 10) and (1, - 8)

C/ 51.

18 ()63
30 4. 240106

Write the equation in the standard form for a parabola.

a.
b.

ID:
oordinates. )
V4 , ’“?3 - X 4
d- ‘l(}t-ﬁfm% L P B
i r ‘ \ @ ! o) m jmw?
e \I iav.(;,,\,éyﬁ & (-9
i"i J 132 L *?‘1}%

é( ‘ 7§ ( L \6 ) 2eh3
52, y=6x*—48+100 w=~eo = by ~t%x U —loot @b = (x*-Fx+
@y:6(x—4)2+4 c. y=6(x—4)" u-y= b(x-HT
b. y=6(x—4)"+68 d. y=6("—8)+100 y = oix-u)? +4
Write the equation for a circle that satisfies the given conditions.
(2 53. center (—10, —6),radius9units
a. (x+10)’+(y+6)" =9 c. (x=10)°+(y+6) =81

@ (x+10

(x\t{o’)?‘*[‘i\""‘)k: |

b (x+10)*+(y-6) =8I

10
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Find the center and radius of a circle with the given equatig
Y
U 54. x*+y* +22x 28y +196=0 \

a. The center of the circle is (11, - 14) and/c. )The cer%l

n and then graph the circle.

ter of the circle is (— 11, 14) and

the radius is 11. The graph of the circle is the radius is 11. The graph of the circle is
as follows: as follows:
A y ¥
25+ 25+
204+ /\z\—-
154 P 15+
10+ 104
3P 54
-25 20 -15 -10 -5 X -25 -20 -15 -10 -5 5 10 15 20 25 «x

~10+
—15+
204+
254+

W

b. The center of the circle is (— 11, — 14)

and the radius is 11. The graph of the
circle is as follows:

~

d. The cer
the rad

¥y
25+

20

ater of the circle is (- 11, 14) and
us is 121. The graph of the circle

is as follows:

1 Il

1 I 1 1
T T T T 7 T

5 10 15 20 25 «x —200—

i e 4+
xPrzex H L+ gT-2Bg T —
(‘y,}‘E\%:’V%;‘i‘a'Eg\sEt}Z?
(43 * ".'_} tti L4 i
1 -1, 14 v = i

11

20 160 200 x
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ﬁss.

Find the coordinates of the vertices and foci and the equatic

graph the hyperbola.
x2 yz

169 144

a.

ngwﬂ'\“@ﬁ

The coordinates of the vertlces are

(£13, 0).

The coordinates of the foci are

02 ~/313).

The equation of the asymptotes is

104

I 1 1 1 i
T

& 1 1 ! 1
T T T T

—50 —40 -30 20

-10
-10

T T T

10 20 30 40 50

The coordinates of the vertices are

(*13, 0).

The coordinates of the foci are

& ~f313, 0).

The equation of the asymptotes is

2
&+ —
YTERA

7
X

—50 —40 -30 20

:5

hondt also e
Chyite

\\Q O NS nEY

éf"ra ‘91""3

hoa

~10

10+
204
30+
40+
50+

4r

is B

L}
10\ 20 30 40 50

o Since s ,
\ .\ j‘;“,()ki!uy maﬂ ’f’ J"’f)fze
{n '\"
Vs na v Hhe u‘ ﬁ'!‘.f{‘Lw,\,

4 ol \veedron

Ccvv\ev’
(0,2

¢. The coordinates of the vertices are

(13,0

The coordinates of the foci are

/313,

The equation of the asymptotes is

_. 1B
)

N

V{\;‘h tes
(30) (-13.42)

0).

X.

< T

—50 —40 —30 -20/-10

/|

d. The coordinates of the vertices are

(0, £13).

The coordinates of the foci are

0,3

The eqpation of the asymptotes is

L2
YEERF

1 1

Il 1 1
T T T

20+
—-30+
40+

50+

13).

-50 40

1 1 1 1 1 1
T T T T T T

-30 -20 10
-10

10 20 30 40 50
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ons of the asymptotes for the hyperbola. Then
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Write the equation in standard form. State whether the graph of the equation is a parabola, circle, ellipse, or

hyperbola. Then graph the equation.

A 56. x> +6y"—10x—11=0

The equation in standard form is c.
2 2
(igéi)— +l6— = 1. The graph of the
equation is an ellipse.
-
201
16
12 1
gt
a4
e e N
-20 -16 12 -8 414_\4—’8/12 16 20 «x
8+
12+
-16+
204
B Vv
b. The equation in standard form is d.

2

x-5)" »
36 6
equation is a hyperbola.

A

“— = 1. The graph of the

1 L
b o | T

—
-20 -16 -12 -8

; 4 8 1
_4-._
,8-_
,]2-;.
_16+
304
L
b
X -lox +Z5 ijz =1l
\N? : - )
(x-8) +6u* - 20
>
f A\Z 2
(¥=2)" 4 Y
S——— " &
B &

e 295

m———

The eqlflation in standard form is
(x—5) = 6p%. The graph of the equation
is a parabola.

N

T T T
5 10 15 20 25 «x

pa 1
< T

The equation in standard form is
(x—5)T +y” =36. The graph of the
equation is a circle.

4..

& Il 1 L 1 1 i

N
3V
-20 -16 -12 -8 \ 4 8 /12 16 20 «x
—4 4
L

-8
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lz 57. x*-8 -14x-15=0

a. The equat1on in standard form is

T

(x5 y== b

1D:

X/Z/!q\(i'L{‘% —%\32 - 55+ﬁ
c. The equation in standard form is [ E 14
(x=7)]=8". )

v

(x=7)" +y* = 64.
The graph of the equation is a
circle.

20

q | | \

The graph of the equation is a
parabola.

& Il 1 ] Il

-20 -16 -12 -8 4

_8_
-12
_]6_
204

T T T T T
4 8 12 /16 20 x
-4

1
< T T T T T T

-25 -20 ~15 -10 -5 " 5

Il LN
T

10 15 20 25 «x

Wzthout wrzt@

The equation in standard form is
2 2
&-N" Yy
64 8
The graph of the equation is an
ellipse.

v
< T T T T

L

T
-20 -16 -12 -8 -4

4

8+
—12+
—16+
20+

v

\““‘“"elhpse or hyperbola.

(; 58. x” +y> +28x—28y+196=10

a.

b.

parabola
ellipse

equation in standard form, state whethe

104
s+
20+
-25
@ The eqn‘Aation in standard form is
&=7) 7)3 ﬁ -1
64 8
The graph of the equation is a
hyperbola. \
20+
16+
12+
T 8+
44 /
oz | 4 5 12 b x
/ NI
1t
164
04
|

@ circle

d. hyperbola

14

A

4
B

=

4

r the graph of the equation is a parabola, circle,

§
H
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D 5o, 70x? —280x+40y> 80y =20

a. parabola ¢. hyperbola
b. circle ellipse

Find the exact solution(s) of the system of equations algebrg
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